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tupl = ('physics', 'chemistry', 1997, 2000);
tup2 = (1, 2, 3, 4, 5);
tup3 = "a"’ "b"’ "C", "d";
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tupl = (5OI);
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#!/usr/bin/python

tupl ('physics', 'chemistry', 1997, 2000);
tup?2 (1, 2, 3, 4, 5, 6, 7 );

print "tupl[0]: ", tupl[O0];

print "tup2[1:5]: ", tup2[l:5];

Se00 Adlgs> s alb (s>9,5> axaws > |, ) Az VYU aS Sl

tupl[0]: physics
tup2[1:5]: [2, 3, 4, 5]
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#!/usr/bin/python

tupl = (12, 34.56);
tup?2 ("abc', 'xyz');

# Following action is not valid for tuples
# tupl[0] = 100;

# So let's create a new tuple as follows
tup3 = tupl + tup2;
print tup3;

Sg0u Adlgs> b (s>9,5> axaws ;5 |) 1) Az VYU aS Sl

(12, 34.56, 'abc', 'xyz')
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#!/usr/bin/python

tup = ('physics', 'chemistry', 1997, 2000);
print tup;

del tup;

print "After deleting tup : ";

print tup;

g ol 1) 5 Slas g 3900 Adlgs ol (s>9,5> axan ;> | 55 asn VYU AS s>l
>g.00

('"physics', 'chemistry', 1997, 2000)
After deleting tup
Traceback (most recent call last):
File "test.py", line 9, in <module>



print tup;
NameError: name 'tup' is not defined
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#!/usr/bin/python
print 'abc', -4.24e93, 18+6.67j, 'xyz';

X,y =1, 2;
print "Value of x , yv : ", x,vy;

>9.00 m|9>).®U'o W=>9),> Ax0.0 D |))g)'CL_x_..\1j\JL_;JSuS|).>_|

abc -4.24e+93 (18+6.63) xyz
Value of x , y : 1 2
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cmp (tuplel, tuple2)
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#!/usr/bin/python

tuplel, tuple2 = (123, 'xyz'), (456, 'abc')
print cmp (tuplel, tuple2)
print cmp (tuple2, tuplel)
tuple3 = tuple2 + (786,);
print cmp (tuple2, tuple3)
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#!/usr/bin/python

tuplel, tuple2 = (123, 'xyz', 'zara'), (456, 'abc')
print "First tuple length : ", len(tuplel)
print "Second tuple length : ", len(tuple2)

Sg00 Adlgs> b (s>9,5> axao > |) ) Az VYU aS Syl

First tuple length : 3
Second tuple length : 2

max (tuple)
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#!/usr/bin/python

tuplel, tuple2 = (123, 'xyz', 'zara', 'abc'), (456, 700, 200)
print "Max value element : ", max (tuplel)
print "Max value element : ", max (tupleZ2)

S900 Wdlgs> b (s>9,5> axen ;5 | 5 asin YU aS s>l

Max value element : zara
Max value element : 700

min (tuple)
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#!/usr/bin/python

tuplel, tuple2 = (123, 'xyz', 'zara', 'abc'), (456, 700, 200)
print "min value element : ", min (tuplel)
print "min value element : ", min (tupleZ2)

Sg00 Adlgs> b (a>9,5> axano > |) ) Az VYU aS Syl

min value element : 123
min value element : 200
tuple (seq)
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#!/usr/bin/python

alist = [123, 'xyz', 'zara', 'abc']
aTuple = tuple (alist)
print "Tuple elements : ", aTuple

Se00 Adlgs> ol (s>9,5> axano > |) ) Az VYU aS Syl

Tuple elements : (123, 'xyz', 'zara', 'abc')



